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Crossword

Beetle Bailey • Mort Walker

Zits • Jim Borgman & Jerry Scott

Hagar the Horrible • Chris Browne

Sally Forth • Greg Howard

Blondie • Chic Young

Cryptoquip

Family Circus • Bill Keane

There’s Only One Right Play
 One of the most common failings of many declarers 

is the tendency to deal with each suit separately rather 
than assess the play of the hand as a whole.

Take this case where declarer won the opening 
club lead with dummy’s ten and played the K-Q of 
diamonds, hoping the defense would take the ace. 
But East uncharitably ducked both diamonds, leaving 
South with an impossible task.

When he tried leading the ten of spades from dummy, 
East covered with the queen, and the king lost to West’s 
ace. A spade was returned, and South could now do no 
better than cash eight tricks.

Declarer lost the contract on the very first trick when 
he should have won the club lead with the ace instead 
of dummy’s ten.

South should realize that the contract is not likely to 
be made unless the diamonds can be run, and should 
not rely exclusively on the hope that the opponents will 
take the first or second diamond lead. He should allow 
for the possibility that either defender might have been 
dealt three or four diamonds to the ace and might not 
take the first two diamond offerings.

 The purpose of playing the club ace at trick one is to 
ensure a subsequent club entry to dummy in case the 
diamond ace is held up. Thus, in the actual case, South 
leads three rounds of diamonds after winning the open-
ing club lead. East takes the ace and can do nothing to 
injure declarer. If he returns a club, dummy automati-
cally acquires an entry to cash the good diamonds.

 If East returns a heart instead, declarer wins and 
leads a club to force his way into dummy and again has 
10 tricks. And if East chooses to return a spade, South 
plays low from his hand to obtain the same result.

It all goes back to what declarer does at trick one. If 
he mechanically follows low from his hand and then 
starts to think, he will soon learn to his sorrow that 
the opportunity to make his game has already passed 

Tod the Dinosaur • Patrick Roberts

Baby Blues • Rick Kirkman & Jerry Scott

Mother Goose and Grimm • Mike Peters

	
	

Solving a Defensive Problem
  Declarer certainly does not have a monopoly on 

counting out a hand. In most cases, a defender has just 
as good a chance of figuring out the distribution of the 
outstanding cards.Take this deal where West was able 
to work out the winning defense at a critical juncture in 
the play. West led the K-A and another club, ruffed by 
declarer. South cashed the ace of hearts, revealing the 
bad trump split, and then led a diamond to the ace.

After playing a heart to the king, declarer ruffed the 
queen of diamonds in dummy, East following with the 
deuce and four on the two rounds of diamonds to indi-
cate an odd number of cards in the suit. West was then 
given his trump trick and, since he had no more hearts 
or clubs, had to choose between returning a spade or a 
diamond.Although West could not be absolutely certain, 
it appeared from the fall of the cards and declarer’s man-
ner of play that South had no more diamonds left at this 
point. If so, a diamond return would present South with 
a ruff-and-discard.

 It might seem, therefore, that West should return a 
spade. But if he does, he hands declarer the contract. 
If West leads the jack, South wins with dummy’s king 
and then finesses East for the queen. If West tries a low 
spade instead, declarer takes East’s queen with the ace 
and picks up West’s jack on the next round.

But if West returns a diamond, deliberately conceding 
a ruff-and-discard, South eventually has to lose a spade 
for down one. How can West know this? By counting 
out the hand.

 At the point where West wins the heart queen, he 
knows that declarer started with five hearts, two clubs 
and two diamonds. This leaves South with four spades. 
If these include the A-Q, there is no hope, so West must 
assume East has a spade honor.

If East has the ace or Q-10-x, it doesn’t matter what 
West does. But if East has the Q-x-x, a spade return is 
disastrous, while a diamond return, though it yields a 
ruff-and-discard, leaves declarer helpless.
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